					Emp	loyed in fi preferr		-	Conti	nuing Ed.			E	mployed preferr		-						
	Degree Program	Total Grads		,	Full- time*		Part- time*					ositive ement (a)	Full- time		Part- time			Overall ement (b)	Seeking employment or education	Av	verage Ann Salary (c)	
	·	N	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%			\$	N
	Business, Arts & Sciences (BAS)																					
	Bachelor																					
	Accounting (ACO)	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
	Accounting (traditional) (BSA)	6	3	50.0%	-	-	-	-	-	-	-	-	-	-	1	33.3%	1	33.3%	2		-	-
	Applied Human Services (BHS)	19	9	47.4%	7	77.8%	1	11.1%	1	11.1%	9	100%	-	-	-	-	9	100%	-	\$	32,361	6
	Applied Management (BMA)	20	8	40.0%	6	75.0%	-	-	2	25.0%	8	100%	-	-	-	-	8	100%	-	\$	30,600	5
	Applied Management- Distance (BDM)	13	6	46.2%	6	100%	-	-	-	-	6	100%	-	-	-	-	6	100%	-	\$	49,100	2
	Business Admin: Banking and Finance Concentration (BBF)	8	2	25.0%	1	50.0%	-	-	-	-	1	50.0%	-	-	-	-	1	50.0%	1	\$	52,000	1
	Business Admin: Marketing Concentration (BBK)	7	3	42.9%	1	33.3%	-	-	2	66.7%	3	100%	-	-	-	-	3	100%	-		-	
	Business Admin-Management (BBM)	12	5	41.7%	2	40.0%	-	-	3	60.0%	5	100%	-	-	-	-	5	100%	-		-	-
d	Culinary Arts and Systems (BCA)	2	1	50.0%																		
d .	Emergency Management & Homeland Security (EHD)	1	1	100%																		
	Emergency Management & Homeland Security (EHM)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
	Emergency Management Technology (BEM)	5	-	-	-	- 4.0.00/	-	-	-	-	-	-	-	-	-	-	-	-	-		-	
d	Emergency Management Technology (EMD)	2	1	50.0%	1	100%	-	-	-	-	_	CC 70/	-		-	22.20/		00.00/	-	\$	45,000	
-	Graphic Design (BGD)	23	9	39.1%	6	66.7% 100%	-	-	-	-	6	66.7% 100%	-	-	2	22.2%	8	88.9%	1	\$	47,632	6
	Human Services and Restorative Justice (HSJ) Management Concentration (BMD)	5 5	1	40.0%	1	50.0%	-	-	-	-	1	50.0%	-	-	-	-	1	100% 50.0%	-	\$	32,000	1
-	Sport and Event Management Concentration (BBP)	4	2	50.0%	1	50.0%	-	-	-	-	1	50.0%	1	50.0%	-	-	2	100%	1	\$	31,000 40,000	1
-	Web and Interactive Media (BIM)	5	3	60.0%	1	33.3%		-		-	1	33.3%	1	50.0%	-	-	1	33.3%	2	\$	45,000	1
	web and interactive inedia (bilvi)	3	3	00.076		33.370						33.370	_					33.370		٦	43,000	
	Associate																					
	Accounting (AW)	2	_	_	_	_	_	-	_	_	-	_	-	_	-	_	-	-	-		-	_
	Advertising Art (AR)	3	1	33.3%			_	_	1	100%	1	100%	_	-	_	-	1	100%	_		_	
-	Baking and Pastry Arts (BK)	7	4	57.1%	2	50.0%			2	50.0%	4	100%	_				4	100%				
	Brewing and Fermentation Science (BF)	4		-		-		_		-	_	-					_	100/0				
-	Business Management (BM)	10	8	80.0%	4	50.0%				25.0%	_	75.0%	2	25.0%			8	100%	-	\$	20.250	4
-	<u> </u>			60.0%		33.3%		-	2		6	100%	2	25.0%	-					Ş	38,250	
-	Business Management (BO)	5	3		1				2	66.7%	3		-	-	-		3	100%	-	_	-	
	Culinary Arts Tech (CY)	9	5	55.6%	3	60.0%	-	-	2	40.0%	5	100%	-	-	-	-	5	100%	-	\$	30,200	3
	Early Childhood Education (EC)	10	6	60.0%	3	50.0%	1	16.7%	1	16.7%	5	83.3%	-	-	1	16.7%	6	100%	-	\$	19,100	2
d	General Studies (GS)	2	1	50.0%	-	-	-	-	1	100%			-	-	-	-			-		-	
d	Hospitality Management (HM)	1	1	100%	-	-	1	100%		-			-	-	-	-			_			
	Human Services (HS)	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
	Human Services and Restorative Justice (HJ)	8	6	75.0%	1	16.7%	-	-	5	83.3%	6	100%	-	-	-	-	6	100%	-	\$	42,000	1
-	Individual Studies (IS)	6	3	50.0%	1	33.3%	-	-	1	33.3%	2	66.7%	1	33.3%	-		3	100%	-	\$	30,000	1
d	Studio Arts (SD)	1	1	100%			-			-			-		-				_			
																					_	
	TOTAL	212	95	44.8%	52	54.7%	3	3.2%	25	26.3%	80	84.2%	4	4.2%	4	4.2%	88	92.6%	7	\$	38,037	40

					Emp	loyed in fi preferr		•	Conti	nuing Ed.			E	mployed preferr		-						
	Degree				l														Seeking	Αv	erage Ann	
	Program	Total Grads	•		Full- time*		Part- time*					ositive ement (a)	Full- time		Part- time			Overall cement (b)	employment or education		Salary (c)	
		N	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%		_	\$	N
I	Engineering Technologies (ET)																					
	Bachelor																					
	Applied Technology Studies (BAT)	4	1	25.0%	-	-	-	-	1	100%	1	100%	-	-	-	-	1	100%	-		-	-
	Automation Engineering Tech: Mechatronics (AEM)	9	2	22.2%	2	100%	-	-	-	-	2	100%	-	-	-	-	2	100%	-	\$	59,100	2
	Automation Engineering Technology: Robotics & Automation (AER)	7	1	14.3%	-		-	-	1	100%	1	100%	-	-	-	-	1	100%	-		-	_
	Automotive Technology Management (BAU)	13	4	30.8%	4	100%	-	-	-	-	4	100%	-	-	-	-	4	100%	-	\$	45,667	3
	Automotive Technology Management- Distance (BAM)	5	1	20.0%	1	100%	-	-	-	-	1	100%	-	-	-	-	1	100%	-	\$	70,000	1
	Aviation Maintenance Technology (BAV)	13	4	30.8%	3	75.0%	-	-	-	-	3	75.0%	1	25.0%	-	-	4	100%	-	\$	43,720	2
	Building Automation Engineering Technology (BMS)	13	7	53.8%	7	100%	-	-	-	-	7	100%	-	-	-	-	7	100%	-	\$	59,600	5
	Building Automation Technology (BBT)	7	3	42.9%	2	66.7%	-	-	1	33.3%	3	100%	-	-	-	-	3	100%	-	\$	70,000	2
d	Building Science & Sustainable Design (BST)	2	1	50.0%																		
	Building Science & Sustainable Design: Architectural Tech (BSD)	8	4	50.0%	1	25.0%	-	-	3	75.0%	4	100%	-	-	-	-	4	100%	-	\$	68,000	1
	Building Science & Sustainable Design: Bldg Const Tech (BSC)	1	_	_	-	-	_	-	_	-			_	-	_	_	_	-	-		_	_
_	Civil Engineering Technology (BCT)	18	7	38.9%	7	100%	-	-	-	-	7	100%	-	-	-	-	7	100%	-	\$	57,784	5
d	Collision Repair Concentration (BTC)	1	1	100%																		
	Construction Management (BCM)	16	6	37.5%	5	83.3%	-	-	1	16.7%	6	100%	-	-	-	-	6	100%	-	\$	66,500	4
	Electronics and Computer Engineering Technology (BEE)	10	5	50.0%	5	100%	-	-	-	-	5	100%	-	-	-	-	5	100%	-	\$	62,683	3
_	Engineering Design Technology (BEN)	24	7	29.2%	5	71.4%	-	-	-	-	5	71.4%	1	14.3%	1	14.3%	7	100%	-	\$	56,600	5
	Game and Simulation Programming (BSP)	3	1	33.3%	-	-	-	-	-	-	-	-	-	-	-	-	-	-			-	-
	Industrial Design (BIX)	6	3	50.0%	1	33.3%	-	-	-	-	1	33.3%	1	33.3%	-	-	2	66.7%	1	\$:	110,000	1
	Information Assurance and Cyber Security (BCS)	22	10	45.5%	5	50.0%	-	-	-	-	5	50.0%	2	20.0%	-	-	7	70.0%	3	\$	58,250	4
	Information Tech Sci-Gaming & Simulation (BGS)	17	5	29.4%	1	20.0%	-	-	1	20.0%	2	40.0%	-	-	-	-	2	40.0%	3	\$	69,000	1
	Information Tech: Network Specialist Concentration (BNW)	22	10	45.5%	7	70.0%	1	10.0%	1	10.0%	9	90.0%	-	-	-	-	9	90.0%	1	\$	45,786	7
	Manufacturing Engineering Technology (BAF)	19	8	42.1%	6	75.0%	-	-	1	12.5%	7	87.5%	-	-	1	12.5%	8	100%	-	\$	54,900	4
	Materials Science & Engineering Technologies (BRA)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
	Plastics/Polymer Engineering Tech (BPS)	15	3	20.0%	1	33.3%	-	-	1	33.3%	2	66.7%	1	33.3%	-	-	3	100%	-	\$	70,000	1
_	Residential Construction Mgt-Building Const Tech-CB (BRC)	10	1	10.0%	1	100%	-	-	-	-	1	100%	-	-	-	-	1	100%	-	\$	65,000	1
	Residential Construction Tech & Mgt (BRM)	20	6	30.0%	6	100%	-	-	-	-	6	100%	-	-	-	-	6	100%	-	\$	53,667	6
	Software Dev & Info Management (BSI)	10	3	30.0%	3	100%	-	-	-	-	3	100%	-	-	-	-	3	100%	-	\$	48,750	2
	Welding/Fabrication Engineering Tech (BWE)	31	15	48.4%	12	80.0%	-	-	-	-	12	80.0%	2	13.3%	-	-	14	93.3%	1	\$	62,884	10

						preferre		tudy or	Conti	nuing Ed.				mployed o preferro		•						
	Degree Program	Total Grads N	Survey Resp. N	%	Full- time* N	%	Part- time* N	%	N	%		ositive ement (a) %	Full- time N	%	Part- time N	%	_	verall ement (b) %	Seeking employment or education	Av	erage Ann Salary (c) \$	
Er	ngineering Technologies (ET)																					
As	sociate																					
1	Architectural Tech (AT)	20	14	70.0%	-	-	-	-	13	92.9%	13	92.9%	-	-	-	-	13	92.9%	1		-	-
d /	Architecture (AX)	1	1	100%																		
-	Automated Manufacturing Tech (AF)	12	6	50.0%	5	83.3%	-	-	1	16.7%	6	100%	-	-	-	-	6	100%	-	\$	57,500	3
-	Automotive Technology (AU)	23	12	52.2%	3	25.0%	-	-	8	66.7%	11	91.7%	-	-	1	8.3%	12	100%	-	\$	36,350	2
-	Automotive Technology- Ford ASSET (FA)	7	3	42.9%	3	100%	-	-	-	-	3	100%	-	-	-	-	3	100%	-	\$	44,667	3
	Automotive Technology- Honda PACT (AH)	5	2	40.0%	1	50.0%	1	50.0%	-	-	2	100%	-	-	-	-	2	100%	-	\$	36,000	1
	Aviation Technology (AD)	8	1	12.5%	-	-	1	100%	-	-	1	100%	-	-	-	-	1	100%	-		-	-
F	Building Construction Tech- Masonry (MN)	4	3	75.0%	2	66.7%	-	-	1	33.3%	3	100%	-	-	-	-	3	100%	-	\$	42,000	2
F	Building Construction Technology (CB)	41	24	58.5%	13	54.2%	-	-	10	41.7%	23	95.8%	1	4.2%	-	-	24	100%	-	\$	47,307	12
(Civil Engineering Technology (CT)	6	4	66.7%	2	50.0%	-	-	2	50.0%	4	100%	-	-	-	-	4	100%	-	\$	54,500	2
(Collision Repair Technology (CR)	6	2	33.3%	1	50.0%	-	-	-	-	1	50.0%	1	50.0%	-	-	2	100%	-	\$	72,000	1
d C	Concrete Science Technology (SS)	2	1	50.0%																		
Γ	Diesel Technology (DD)	26	11	42.3%	6	54.5%	-	-	2	18.2%	8	72.7%	1	9.1%	-	-	9	81.8%	2	\$	44,593	6
F	Electric Power Generation: Diesel Emphasis (DG)	3	1	33.3%	-	-	-	-	1	100.0%	1	100%	-	-	-	-	1	100%	-		-	-
d E	Electrical Construction (EB)	2	1	50.0%																		
F	Electrical Tech (EL)	21	13	61.9%	3	23.1%	-	-	10	76.9%			-	-	-	-			-	\$	44,267	3
F	Electromechanical Maint Tech (MT)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
F	Electronics Tech-Comp Tech-Eng. (EE)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
F	Electronics Tech-Comp Tech-Robotics/Bldg Auto Core (RO)	20	10	50.0%	7	70.0%	-	-	2	20.0%	9	90.0%	-	-	1	10.0%	10	100%	-	\$	44,200	5
F	Engineering CAD Technology (EN)	13	3	23.1%	-	-	-	-	3	100.0%	3	100%	-	-	-	-	3	100%	-		-	-
F	Forest Technology (FR)	26	11	42.3%	2	18.2%	-	-	5	45.5%	7	63.6%	3	27.3%	1	9.1%	11	100%	-	\$	38,000	1
ŀ	Heating/Ventilation (HVAC) Tech-Refrig (HV)	29	13	44.8%	6	46.2%	-	-	7	53.8%	13	100%	-	-	-	-	13	100%	-	\$	48,250	4
ŀ	Heavy Construction Equip Tech- Technician Emphasis (HE)	13	4	30.8%	4	100%	-	-	-	-	4	100%	-	-	-	-	4	100%	-	\$	40,000	2
ŀ	Heavy Construction Equip Tech-CAT (CH)	5	2	40.0%	2	100%	-	-	-	-	2	100%	-	-	-	-	2	100%	-	\$	43,000	2
ŀ	Heavy Construction Equip Tech-Operator Emphasis (HY)	21	10	47.6%	9	90.0%	-	-	-	-	9	90.0%	1	10.0%	-		10	100%	-	\$	50,125	8
- 1	nformation Technology: Network and User Support (NS)	16	11	68.8%	2	18.2%	2	18.2%	6	54.5%	10	90.9%	-	-	-	-	10	90.9%	1	\$	36,000	1
- 1	nformation Technology-Technical Support Tech (TU)	15	8	53.3%	2	25.0%	-	-	5	62.5%	7	87.5%	-	-	-	-	7	87.5%	1	\$	35,000	2
l	andscape/Horticulture Tech-Landscape (LE)	7	2	28.6%	1	50.0%	-	-	1	50.0%	2	100%	-	-	-	-	2	100%	-	\$	34,000	1
l	andscape/Horticulture Tech-Plant Production (LP)	6	4	66.7%	2	50.0%	-	-	2	50.0%	4	100%	-	-	-	-	4	100%	-	\$	32,000	2
1	Machine Tool Technology (MY)	7	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
1	Mechatronics Engineering Tech (MH)	7	2	28.6%	1	50.0%	-	-	1	50.0%	2	100%	-	-	-	-	2	100%	-	\$	55,000	1
ſ	Mechatronics Technology (MX)	3	1	33.3%	1	100%	-	-	-	-	1	100%	-	-	-	-	1	100%	-	\$	50,000	1
	Metal Fabrication Technology (MF)	9	4	44.4%	4	100%	-	-	-	-	4	100%	-	-	-	-	4	100%	-	\$	50,390	4
ſ	Mopar CAP Emphasis (CG)	7	1	14.3%	1	100%	-	-	-	-	1	100%	-	-	-	-	1	100%	-	\$	60,000	1
(On-Site Power Generation (PW)	4	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	
F	Plastics/Polymer Tech (PS)	5	3	60.0%	-	-	-	-	3	100%	3	100%	-	-	-	-	3	100%	-		-	-
5	Surveying Tech (SU)	13	6	46.2%	2	33.3%	-	-	4	66.7%	6	100%	-	-	-	-	6	100%	-	\$	55,500	2
1	Welding Tech (WA)	49	18	36.7%	13	72.2%	-	-	5	27.8%	18	100%	-	-	-	-	18	100%	-	\$	52,915	11

				Emp	-	red in field of study or preferred field			nuing Ed.			Employed outside my preferred field									
Degree Program	Total Grads N	Survey Resp. N	/ %	Full- time* N	%	Part- time* N	%	N	%		ositive ement (a) %	Full- time N	%	Part- time N	%		verall ement (b) %	Seeking employmen or education	t	verage Ani Salary (c) \$	
Engineering Technologies (ET)																					
Certificate																					
d Automotive Service Technician (AM)	2	1	50.0%															-	\$	38,000	1
Aviation Maintenance Technician (AC)	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
CNC Machinist (CNC)	2	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
Collision Repair Technician (CL)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
Diesel Technician (DC)	2	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-
d Plumbing (PH)	2	1	50.0%															-			
Welding (WE)	3	1	33.3%	1	100%	-	-	-	-	1	100%	-	-	-	-	1	100%	-	\$	30,000	1
TOTAL	806	334	41.4%	189	56.8%	5	1.5%	104	31.2%	298	89.5%	15	4.5%	5	1.5%	318	95.5%	15	ć	52,174	150
Nursing & Health Science (HS)																					
Bachelor																					
Applied Health Studies (BAH)	15	6	40.0%	4	66.7%	-	-	-	-	4	66.7%	1	16.7%	1	16.7%	6	100%	-	\$	57,475	4
Applied Health Studies (BAH) Applied Health Studies-OC-Occup Therapy (BAO)	15 8	6 4	40.0% 50.0%	4 2	66.7% 50.0%	<u>-</u>	-	-	- -	4	66.7% 50.0%	1	16.7% 25.0%	1 1	16.7% 25.0%	6 4	100% 100%	<u>-</u>	\$ \$	57,475 42,940	4 2
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR)			50.0% 16.7%		50.0% 100%	- - -	- - -	- - -			50.0% 100%					_					
Applied Health Studies-OC-Occup Therapy (BAO)	8	4	50.0%	2	50.0%				-	2	50.0%	1	25.0%	1	25.0%	4	100%	-	\$	42,940	2
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE)	8	4 1	50.0% 16.7% 33.3% 50.0%	2 1	50.0% 100% 100% 66.7%	-	-	-	-	2	50.0% 100% 100% 100%	1 -	25.0%	1 -	25.0% -	4	100% 100%	-	\$	42,940 70,000	2 1 1
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG)	8 6 3	4 1 1	50.0% 16.7% 33.3%	2 1 1	50.0% 100% 100%	-	-	-	- - -	2 1 1	50.0% 100% 100%	1 - -	25.0% - -	1 - -	25.0% - -	4 1 1	100% 100% 100%	-	\$ \$ \$	42,940 70,000 42,000	2 1 1
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE)	8 6 3 6	4 1 1 3	50.0% 16.7% 33.3% 50.0%	2 1 1 2	50.0% 100% 100% 66.7%	-	-	- - 1	- - -	2 1 1 3	50.0% 100% 100% 100%	1 - -	25.0% - -	1 - -	25.0% - - -	4 1 1 3	100% 100% 100% 100%	- - - -	\$ \$ \$ \$	42,940 70,000 42,000 64,000	2 1 1
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE) Dental Hygiene (BDO)	8 6 3 6 30	4 1 1 3 9	50.0% 16.7% 33.3% 50.0%	2 1 1 2	50.0% 100% 100% 66.7%	-	-	- - 1	- - -	2 1 1 3	50.0% 100% 100% 100% 100%	1 - -	25.0% - -	1 - -	25.0% - - - -	4 1 1 3	100% 100% 100% 100% 100%	- - - -	\$ \$ \$ \$	42,940 70,000 42,000 64,000 58,919	2 1 1
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE) Dental Hygiene (BDO) Dental Hygiene: Health Policy and Administration (BDD)	8 6 3 6 30 3	4 1 1 3 9	50.0% 16.7% 33.3% 50.0% 30.0%	2 1 1 2	50.0% 100% 100% 66.7%	-	-	- - 1	- - -	2 1 1 3	50.0% 100% 100% 100% 100%	1 - -	25.0% - -	1 - -	25.0% - - - -	4 1 1 3	100% 100% 100% 100% 100%	- - - -	\$ \$ \$ \$	42,940 70,000 42,000 64,000 58,919	2 1 1
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE) Dental Hygiene (BDO) Dental Hygiene: Health Policy and Administration (BDD) d Dental Hygiene-Health Policy/Administration (BHM) d Emergency Medical Services Concentration (BAE) d Exercise Science Concentration (BAX)	8 6 3 6 30 3	4 1 1 3 9 -	50.0% 16.7% 33.3% 50.0% 30.0% - 100% 100% 50.0%	2 1 1 2	50.0% 100% 100% 66.7% 88.9%	-	-	- - 1	- - -	2 1 1 3	50.0% 100% 100% 100% 100%	1 - -	25.0% - -	1 - -	25.0% - - - -	4 1 1 3	100% 100% 100% 100% 100%	- - - -	\$ \$ \$ \$	42,940 70,000 42,000 64,000 58,919	2 1 1
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE) Dental Hygiene (BDO) Dental Hygiene: Health Policy and Administration (BDD) d Dental Hygiene-Health Policy/Administration (BHM) d Emergency Medical Services Concentration (BAE) d Exercise Science Concentration (BAX) Health Information Management- Distance (BHI)	8 6 3 6 30 3 1	4 1 1 3 9 - 1 1 1 4	50.0% 16.7% 33.3% 50.0% - 100% 100% 50.0% 40.0%	2 1 1 2	50.0% 100% 100% 66.7%	-	-	1 -	- - 33.3% - -	2 1 1 3 9 -	50.0% 100% 100% 100% 100%	1 - -	25.0% - -	1 - -	25.0% - - - -	4 1 1 3	100% 100% 100% 100% 100%	- - - -	\$ \$ \$ \$	42,940 70,000 42,000 64,000 58,919	2 1 1
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE) Dental Hygiene (BDO) Dental Hygiene: Health Policy and Administration (BDD) d Dental Hygiene-Health Policy/Administration (BHM) d Emergency Medical Services Concentration (BAE) d Exercise Science Concentration (BAX) Health Information Management- Distance (BHI) Health Science (BSH)	8 6 3 6 30 3 1 1 2	4 1 1 3 9 - 1 1 1	50.0% 16.7% 33.3% 50.0% 30.0% - 100% 100% 50.0%	2 1 1 2 8	50.0% 100% 100% 66.7% 88.9%	1	- - 11.1% -	- - 1	- - 33.3% - -	2 1 1 3 9	50.0% 100% 100% 100% 100%	1 - -	25.0%	1	25.0%	4 1 1 3 9	100% 100% 100% 100% -	-	\$ \$ \$ \$ \$	42,940 70,000 42,000 64,000 58,919	2 1 1 1 8
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE) Dental Hygiene (BDO) Dental Hygiene: Health Policy and Administration (BDD) d Dental Hygiene-Health Policy/Administration (BHM) d Emergency Medical Services Concentration (BAE) d Exercise Science Concentration (BAX) Health Information Management- Distance (BHI) Health Science (BSH) Nursing-Completion (post RN) (BSN)	8 6 3 6 30 3 1 1 2 10 4 6	4 1 1 3 9 - 1 1 1 4	50.0% 16.7% 33.3% 50.0% 30.0% - 100% 100% 50.0% 40.0% 75.0%	2 1 1 2 8 -	50.0% 100% 100% 66.7% 88.9% - 100% -	1 -	11.1%	1 -	- - 33.3% - -	2 1 1 3 9 -	50.0% 100% 100% 100% 100% - 100% 100%	1 - -	25.0%	1	25.0%	4 1 1 3 9 -	100% 100% 100% 100% 100% -	-	\$ \$ \$ \$ \$	42,940 70,000 42,000 64,000 58,919 - 42,085 - -	2 1 1 1 8 -
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE) Dental Hygiene (BDO) Dental Hygiene: Health Policy and Administration (BDD) d Dental Hygiene-Health Policy/Administration (BHM) d Emergency Medical Services Concentration (BAE) d Exercise Science Concentration (BAX) Health Information Management- Distance (BHI) Health Science (BSH) Nursing-Completion (post RN) (BSN) Nursing-Susquehanna (BNA)	8 6 3 6 30 3 1 1 2 10 4	4 1 1 3 9 - 1 1 1 4	50.0% 16.7% 33.3% 50.0% 30.0% - 100% 100% 50.0% 40.0% 75.0% -	2 1 1 2 8 -	50.0% 100% 100% 66.7% 88.9% - 100%	1 -	- - 11.1% - -	1 -	- - 33.3% - -	2 1 1 3 9 -	50.0% 100% 100% 100% 100% - 100% 100%	1 - -	25.0% - - - - - -	1	25.0% - - - - - -	4 1 1 3 9 -	100% 100% 100% 100% 100% -	-	\$ \$ \$ \$ \$	42,940 70,000 42,000 64,000 58,919 - 42,085	2 1 1 1 8 -
Applied Health Studies-OC-Occup Therapy (BAO) Applied Health Studies-Rad-Radiography (BAR) Applied Health Studies-SG-Surgical Tech (BAG) Dental Hygiene (BDE) Dental Hygiene (BDO) Dental Hygiene: Health Policy and Administration (BDD) d Dental Hygiene-Health Policy/Administration (BHM) d Emergency Medical Services Concentration (BAE) d Exercise Science Concentration (BAX) Health Information Management- Distance (BHI) Health Science (BSH) Nursing-Completion (post RN) (BSN)	8 6 3 6 30 3 1 1 2 10 4 6	4 1 3 9 - 1 1 4 3	50.0% 16.7% 33.3% 50.0% 30.0% - 100% 100% 50.0% 40.0% 75.0%	2 1 1 2 8 -	50.0% 100% 100% 66.7% 88.9% - 100% -	- - 1 -	- - 11.1% - - -	- - 1 - - - 3	- - 33.3% - - - 100.0%	2 1 1 3 9 -	50.0% 100% 100% 100% 100% - 100% 100%	1	25.0% - - - - - -		25.0%	4 1 1 3 9 -	100% 100% 100% 100% 100% -	-	\$ \$ \$ \$ \$	42,940 70,000 42,000 64,000 58,919 - 42,085 - -	2 1 1 1 8 -

Primary Placement Status by School, Degree Level and Major

				Emp	loyed in f prefer		Continuing Ed.					Employed outside my preferred field									
Degree Program	Total Grads N	Survey Resp. N	%	Full- time* N	%	Part- time* N	%	N	%	-	ositive ement (a) %	Full- time N	%	Part- time N	%	_	overall ement (b) %	Seeking employment or education	A	erage Anر Salary (c)
	IN	IN	70	IN	76	IN	76	IN	76	IN	76	IN	76	IN	70	IN	76			\$	N
Nursing & Health Science (HS)																					
Associate																					
Dental Hygiene (DH)	33	20	60.6%	10	50.0%	-	-	10	50.0%	20	100%	-	-	-	-	20	100%	-	\$	61,600	9
Emergency Medical Services/Paramed Tech (ER)	2	2	100%																		
Health Arts-Practical Nursing (HN)	22	7	31.8%	7	100%	-	-	-	-	7	100%	-	-	-	-	7	100%	-	\$	38,968	7
Health Information Technology (HI)	13	7	53.8%	2	28.6%	-	-	5	71.4%	7	100%	-	-	-	-	7	100%	-	\$	33,500	2
Nursing (NR)	27	15	55.6%	9	60.0%	1	6.7%	5	33.3%	15	100%	-	-	-	-	15	100%	-	\$	62,664	8
Nursing LPN-RN (NL)	13	7	53.8%	4	57.1%	-	-	3	42.9%	7	100%	-	-	-	-	7	100%	-	\$	57,827	3
Nursing LPN-RN (NLD)	8	3	37.5%	2	66.7%	-	-	1	33.3%	3	100.0%	-	-	-	-	3	100.0%	-	\$	55,750	2
Occupational Therapy Assistant (OC)	21	8	38.1%	1	12.5%	-	-	-	-	1	12.5%	1	12.5%	4	50.0%	6	75.0%	2	\$	60,320	1
Physical Therapist Assistant (TP)	16	7	43.8%	4	57.1%	-	-	-	-	4	57.1%	2	28.6%	1	14.3%	7	100%	-	\$	42,150	4
Radiography (RD)	28	11	39.3%	5	45.5%	3	27.3%	2	18.2%	10	90.9%	-	-	1	9.1%	11	100%	-	\$	45,522	5
Surgical Tech (SG)	14	5	35.7%	4	80.0%	-	-	1	20.0%	5	100%	-	-	-	-	5	100%	-	\$	40,750	2
Certificate																					
Paramedic Technician (PE)	4	2	50.0%	1	50.0%	-	-	-	-	1	50.0%	1	50.0%	-	-	2	100%	-	\$	35,000	1
TOTAL	367	149	40.6%	93	62.8%	5	3.4%	33	22.3%	131	88.5%	6	4.1%	8	5.4%	145	98.0%	3	ć	57,348	86
TOTAL	307	143	40.070		02.070		3.476		22.3/0	131	00.570		4.176		3.470	143	30.076		٠,	37,340	- 00
SUBTOTALS BY DEGREE LEVEL																					
Baccalaureate	634	230	36.3%	165	72.4%	3	1.3%	25	11.0%	193	84.6%	11	4.8%	7	3.1%	211	92.5%	17	\$	56,312	139
Associate	732	343	46.9%		48.4%	10	2.9%	136	39.7%	312		13	3.8%	10	2.9%	335	97.7%	8	\$	47,652	
Certificate	19	5	26.3%	3	60.0%	-	-	1	20.0%	4	80.0%	1	20.0%		0.0%	5	100%	-	\$	34,333	3
COLLEGE TOTAL BY DEGREES AWARDED	1385	578	41.7%	334	58.0%	13	2.3%	162	28.1%	509	88.4%	25	4.3%	17	3.0%	551	95.7%	25	\$	51,750	284
COLLEGE TOTAL BY HEADCOUNT	1285	547	42.6%	306	56.1%	13	2.4%	160	29.4%	479	87.9%	25	4.6%	17	3.1%	521	95.6%	24	\$	51,865	26:

NO I ES

- (a) Positive Placement includes all graduates employed in field of study or preferred field (full-time and part-time), continuing education (full-time and part-time), or serving in the military.
- (b) Overall Placement includes all graduates with positive placement AND all graduates employed in a position outside their preferred field (full-time or part-time).
- (c) Average annual salaries are for graduates employed full-time in field of study or preferred field; salaries are self-reported and may not be starting salaries.
- (d) Salary and placement data for programs with less than three graduates is not disclosed (to protect the confidentiality of the graduate).
- * Full-time employment = 30 or more hours per week; Part-time employment = Less than 30 hours per week.

This table includes placement data for August 2020, December 2020 and May 2021 graduates.